





# Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

# PURCHASE REQUEST

PPMP No.: 138-1-1242-2023-11-0-21

PR No.: STF-2023-02-00189

Date: 02-13-2023

Dept./Office: VIHS

Category: Laboratory

Section/End-User: Guada Fe D. Amihan

Equipment

Funding Source: Special Trust Fund

Project Title/Code: VSUIHS Home Science Laboratory

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
	Ceramic Cup and Saucer	sets	10	480.00		4,800.00

### Specification:

Set 6pcs Ceramic Cup and Saucer

High Quality > Ceramic > Perfect for coffee and tea Cup

Size H: 7cm W: 14cm Saucer Size H: 2.5cm W: 16cm

O Distribution Cools	pcs	2	3,500.00	7,000.00
2 Digital Weighing Scale	pus	4	0,000.00	The state of the s

### Specification:

- · Digital scale is the best choice for an all-around scale for your business needs. Not only known for it's durability, power and user-friendly features but also not sacrificing quality for a cheaper price compared to the digital scale in the market. -A truly recommended and guaranteed by many satisfied customers!-Red LED display
- · -Water resistant
- -FREE adaptor included!High precision strain gauge technology
- · Rapid price amount computing
- · Red LED display
- Tare / Zero / Add-up / Total display / Clear total
- · Dual-display: weight, unit price, amount
- Framework structure with pressure-limit protection
- Overload and low voltage indication
- AC/DC charging with built-in rechargeable battery
- Automatic energy saving mode
- · Five different unit price memories
- Automâtic temperature compensationAvailable in 10, 15 and 30kgs
- · Digital scale is the best choice for an all-around scale for your business needs. Not only known for it's durability, power and user-friendly features but also not sacrificing quality for a cheaper price compared to the digital scale in the market. -A truly recommended and guaranteed by many satisfied customers!-Red LED display
- · -Water resistant
- -FREE adaptor included!High precision strain gauge technology
- · Rapid price amount computing
- · Red LED display
- Tare / Zero / Add-up / Total display / Clear total

- · Dual-display: weight, unit price, amount
- · Framework structure with pressure-limit protection
- · Overload and low voltage indication
- · AC/DC charging with built-in rechargeable battery
- · Automatic energy saving mode
- · Five different unit price memories

Automatic temperature compensation

3 Dinner Knife Stainless Steel pcs 50 120.00 6,000.00

### Specification:

heavy duty and durable For home or commercial use. Perfect for everyday dinner, special dinner, hotel or restaurant use.

18/10 Stainless steel construction, high quality and function

Simple design allows for mix and match with your existing flatware Working ends are modern, functional and comfortable, Dishwasher safe (no harsh detergents)

Dinner Plate (White Plate)

pcs

50

100.00

5,000.00

# Specification:

10 inch Dinner Plate

Cookware material: Porcelain

Pattern: Plain

Dinner Plate Type: Dinner Plates

Shape: Round

Cookware Diameter (cm): 25

- -Dishwasher Safe
- -Microwave Safe

perfect to use in occasion because it is presentable due to its plain white and 10 inch diameter round shape of plate and its look elegant.

5 Heavy Duty with Handle Stainless pcs 4 1,000.00 4,000.00

### Specification:

colander that easily drains excess liquid from grains, spaghetti, pasta, fruits, vegetables, orzo, and noodles.

Rust Proof

A KITCHEN NECESSITY

Perfect for straining pasta, rinsing off fruits & steaming veggies

Kitchen Stainless Steel-Strainer Food Spaghetti Salad Colander Fruits Basket, Silver.

RUST PROOF - Colander with high quality of stainless steel.

Perfect gifts for mama, wife or Kitchen Lovers.

Perfect for Draining, Staining, Rinsing Spaghetti, Pasta, Prutas, Gulay or Noodles.

Heavy-Duty handle with Stable Base for using on the Sink.

Hindi kinakalawang na Colander at galing sa magandang klase ng stainless steel.

Perfect pang regalo kay mama, sa asawa, o sa mahilig sa kusina.

Perfect pang Drainer, Strainer sa Spaghetti, Pasta, Prutas, Gulay o Noodles.

Matibay na hawakan at may Matibay na Base para sa pag gamit sa lababo.

INDESTRUCTABLE DESIGN WITH RIVETED HANDLES – Constructed of professional grade 18/10, 304 stainless steel and built to last a lifetime. Our steel will never deform or bend as it's 20% thicker than other colanders. Our premium handles are riveted to the bowl and will never come off!

RAPID DRAINING RING BASE THAT WON'T TIP OVER – The sturdy solid ring base keeps the colander from tipping over so that you can fill it up without fear of dumping your food. Precision-cut drainage ports are added to the base to prevent backflow, now water will not get trapped in the base.

-					0,000,00
6	Kitchen Shears	pcs	4	1,500.00	6,000.00
	THE STATE OF THE S				

### Specification:

Kitchen Scissors All Purpose Kitchen Shears

High Hardness Corrosion-resistant food grade material, durable, safe and reliable Used in Many Kinds Cut fried chicken wings, cut pork tripe, cut roast duck, cut fish fins, cut snail, cut scallion. Professional Shears for Chicken Simplify your cooking.

- · Anti jamming oblique cutting and grinding.
- High Hardness Corrosion-resistant food grade material, durable, safe and reliable.
- High Quality Materials Products made of high quality stainless steel Durable and wear-resistant.
- Handle Design Combined with the arc handle of hand type, it is comfortable to grasp. Handle design ergonomic radian, unique antiskid thickened handle.
- · Easy to Use Dial to unlock, easy to use and store.

7	Ladle, stainless steel	pcs	4	250.00	1,000.00

### Specification:

Key Features: The stainless steel ladle is made of high quality stainless steel, rust resistant, durable, multi-functional and safe. The cutlery curve is ergonomically designed. All the edges of the ladle have been finely polished many times to achieve a perfect mirror effect, comfortable to touch. High quality material, durable and solid construction. You can use this fork for many years to come, it has a long service life. Please clean it and wipe it to dry after using.

Material: Stainless steel

Type: Steel ladle

Color: Silver

Size: 12.6\*17.4cm (L\*W cm)

Suitable for: Kitchen Attention Please clean it and wipe it to dry after using. Package: 1\* Stainless ladle Features & details Material: The stainless kitchen tools are made of high quality stainless steel, rust resistant, durable, multi-functional and safe to use.

Durable: High quality material, durable and solid construction. You can use this ladle for many years to come, it has a long service life. Please clean it and wipe it to dry after using. Useful: The elegant design allows for mix and match with your existing cutlery

8 Measuring cups and spoons set sets 4 600.00 2,400.00

### Specification:

Description? Clearly Marked For Accurate Control Of Measurement, Multiple Uses, One Spoon For Multiple Uses Can Measure Liquid And Powder Material, Simple And Easy To Use, Convenient Life Specification? Package Size: Measuring Cup 15.7\*8.6\*4.6cm Measuring Spoon 12\*4.2\*1.8cm Material: PP Measuring Spoons 5Pcs Measuring Cup 5Pcs Measuring Cup + Spoon 10pcs Style: Measuring Spoon Measuring Cup Measuring Spoon Meas

9 Mixing bowl Stainless Steel pcs 4 1,000.00 4,000.00

#### Specification:

Features: 1. Made of premium stainless steel, shiny, scratch-resistant, rust-resistant. 2. It won't stain or absorb odors, easy to wash the bowls in the dishwasher or by hand. 3. A wide rim ensures contents to flow evenly when pouring. Its rolled rim allows the user to have a sturdy grip every time they handle the bowls. 4. Ideal for serving fruit salads, marinating for the grill, and adding last ingredients for dessert. With a lid design for healthier food storage. 5. Multi-sizes are available, bowls of different size can nest inside each other to save space in kitchen cabinets, cupboards, and countertops. Specifications: Material: Stainless Steel Color: as pictures show #MixingBowl #StainlessSteelMixingBowl #BakingBowls #StainlessSteelSaladBowl #KitchenCookingTools

size: 5L, 12 cm Hx26cmHx26cmWx26cmD

10 Non Stick Frying Pan 28" pcs 4 600.00 2,400.00

### Specification:

Non-Stick Wok Fresh Kitchen Pre-Seasoned Cast Iron Frying Pan for Butane Stove, Electric Barbeque Stove, Induction Cooker, Multi Roaster Stove, For Home

- · Feature?
- 1. Healthy wok: less oily smoke, non-sticky and easy to clean, can be used with steel spatula, flat bottom is not raised, heated evenly and does not run out of oil
- 2. Non-stick pan: Use the supporting effect of points and points to reduce the direct contact between the food and the surface of the pan to form a gas suspension effect, and achieve self-disconnection non-stick
- 3. Not afraid of scratches: The pot body adopts a number of mechanical and manual processes, and is formed by diecasting of composite materials. It is not afraid of rubbing, steel shovel, and steel ball.
- 4. Full coverage of internal honeycomb: Upgrade the screen inside and outside the pot to solve the problem of yellowing outside the pot from the root cause.
- 5. Anti-scalding handle: effective anti-skid and anti-scalding, easier to hold and stir-fry, and there are holes at the back of the handle for easy storage
- . 6. Easy to clean: rinse and wipe, clean
- 7. Applicable stove: suitable for induction cooker/gas stove/electric ceramic stove/electric stove and other heat sources ?Specification?
- · Condition: 100% Brand New
- · Item Type: non stick frying pan
- · Material: Iron/ceramic

- · Color: Black
- Application: Suitable for heat sources such as induction cookers / gas stove / electric ceramic stove / electric stove
- · Weight: Approx. 1000g

1	11 Non Stick Frying Pan 32"	DC	4	600.00	2,400.00
м	I Holl otick Hymig I am oz				

#### Specification:

Non-Stick Wok Fresh Kitchen Pre-Seasoned Cast Iron Frying Pan for Butane Stove, Electric Barbeque Stove, Induction Cooker, Multi Roaster Stove, For Home

- · Feature?
- 1. Healthy wok: less oily smoke, non-sticky and easy to clean, can be used with steel spatula, flat bottom is not raised, heated evenly and does not run out of oil
- 2. Non-stick pan: Use the supporting effect of points and points to reduce the direct contact between the food and the surface of the pan to form a gas suspension effect, and achieve self-disconnection non-stick
- 3. Not afraid of scratches: The pot body adopts a number of mechanical and manual processes, and is formed by diecasting of composite materials. It is not afraid of rubbing, steel shovel, and steel ball.
- 4. Full coverage of internal honeycomb: Upgrade the screen inside and outside the pot to solve the problem of yellowing outside the pot from the root cause.
- 5. Anti-scalding handle: effective anti-skid and anti-scalding, easier to hold and stir-fry, and there are holes at the back of the handle for easy storage
- · 6. Easy to clean: rinse and wipe, clean
- 7. Applicable stove: suitable for induction cooker/gas stove/electric ceramic stove/electric stove and other heat sources ?Specification?
- · Condition: 100% Brand New
- · Item Type: non stick frying pan
- · Material: Iron/ceramic
- · Color: Black
- Application: Suitable for heat sources such as induction cookers / gas stove / electric ceramic stove / electric stove
- Weight: Approx. 1000g

+	40 Poster	pcs	8	100.00	800.00
1	12 Peeler	pcs	0	100.00	

### Specification:

Features: 3 kinds of blades meet your different requirements. 360 degree rotatable blades, convenient to change. Convex sides to peel fruit. High quality stainless steel material, slushing and durable. Environment-friendly plastic holder, comfortable hand-feel. Hanging, for storage, saving space. Specifications: Blades: 3 Color: color sent randomly Material: Plastic and stainless steel Item size: 15.5 \* 9.0 \* 2.0cm / 6.1 \* 3.5 \* 0.8in (D \* H) Item weight: 35.0g / 1.2oz Package size: 22.1 \* 10.5 \* 2.5cm / 8.7 \* 4.1 \* 1.0in (L \* W \* H) Package weight: 30.0g / 1.3oz

13	Place Mats (White Transparent)	pcs	50	80.00	4,000.00
1,0	I laco mare (frince)				

### Specification:

size: 43x28cm. Material: PP. Colour: Transparent.

rectangle

It can be used and replaced in daily life. They are beautiful and practical tools for dining tables, dining rooms, kitchens and other places. High-quality materials: The placemat is made of transparent PP plastic, strong and durable, and hard in texture. They are not easy to deform or tear, are non-toxic and tasteless, and can be used multiple times. Easy to clean: heat-resistant, non-fading,

non-staining, mildew-proof, wipeable, washable, easy to clean and very dry. Just wipe it off with a rag. If it is dirty, spray it with water. Safety design: The corners of these placemats are rounded to prevent harm to you and your family. It is safe and reliable for you. The placemat can safely place the tableware and is not easy to slip off. And can effectively protect the surface of your dining table from stains and scratches, showing the beauty of your own dining table. Suitable for various occasions: perfect table layout, placemats are very suitable for offices, kitchens, hotels, houses, picnic mats, etc. They are easy to store, easy to fold and store in small spaces.

14 ROUND SAUCER 3IN pcs 50 66.00 3,300.00

### Specification:

3in Round Saucer 100%Melamine Material Durable Heat Resistant Break Resistant Stain Resistant Lightweight Food Grade Safe Dishwasher Safe Made of 100% Melamine Glossy Finish Suitable for daily use for indoor or Outdoor

15 Sauce Pan with Lid pcs 1 1,000.00 1,000.00

### Specification:

Easy grip handle makes the pan easy to lift.

The pan has extra thick walls and base, which distribute the heat evenly.

Made from aluminum, which spreads heat evenly and energy efficiently, and makes it easier to regulate heat so the food does not burn and stick.

The pan's low weight makes it easy to handle when filled with food.

Steam vents reduce pressure so that food does not easily boil over.

Using the lid brings the contents of the pot to a boil faster, so that you can save time, energy and money while lowering your environmental impact.

# Measurements

Height: 9 cm (3 1/2 ")

Diameter: 19 cm (7 1/2 ")

Volume: 21 (2.1 qt)

Length including handles: 35 cm (14 ")

Height including lid: 12 cm (5 ")

Sifter Professional Round pcs 4 240.00 960.00

#### Specification:

Always use the best quality material - Using food grade 304 stainless steel, no lead, no rust, high hardness, corrosion resistance. Practical Design - Super fine 60 mesh screen cloth, easy to filter out impurity, With hooks save space. Exquisite workmanship - High-precision polishing, easy to clean and durable.

Color: transparent

Material: Stainless Steel

Size: Diameter 15cm height 4.5cm Diameter 18cm height 5.0cm

Diameter 20cm

height 5.0cm

Package List:1 pc Stainless Steel Colander Please Note: Due to hand measure, the size may have 1-2 mm error Due to Different Monitor, the color may have difference

Slotted spoon, Non-Stick Plastic Silicone	pcs	4	102.00	408.00
Silicone	100			

### Specification:

- · Product Description:
- · This cooking and bake ware Utensils is made using soft silicone that will not scratch or stick.
- It's suitable for use with all non-stick coatings such as Teflon and ceramic grills and pans.
- Suitable for all of your food preparation needs, whether you're making spaghetti for the week, grilling a nice steak or veggies, baking delicious cakes and cookies, and more!
- · Silicone is indisputably safer for human health than plastic.
- Our silicone kitchen utensils can be used for much longer than similar pieces of rubber or plastic, and can be recycled after a lifetime of use.
- featuring oversized heads, extra-long, sturdy necks and comfortable grips. Heads are heat-resistant up to 450°F and won't scratch non-stick cookware. L x W x H: 1.5 inch x 3 inch x 15.5 inch. weight: 0.19 lbs. Thoughtfully designed for non-stickfriendly straining.

128	oup Spoons Durable Stainless teel	pcs	50	98.00		4,900.00
-----	--------------------------------------	-----	----	-------	--	----------

### Specification:

High quality for home, hotel, restaurant using Made from high quality 18/8 stainless steel with extra thick ergonomics handle, durable high-polish finish, not rough and will never cut your hands and mouth Perfect for cereal, soba, soup, bouillon, hot chocolate Features a modern and elegant design that will mix well with your existing flatware pieces Easy to clean, dishwasher safe (no harsh detergents)

19 Stainless Steel Dinner Fork	pcs	50	120.00	6,000.00

### Specification:

L 20.5 cm 2.5 mm Made of Durable Stainless Steel Material

Stainless Steel Dinner Fork L 20.5 cm 2.5 mm Made of Durable Stainless Steel Material

- Mirror Finished
- Durable Stainless Steel Material
- Dishwasher Safe
- Dinner Fork
- 2.5mm-thickness
- Silver
- Item Dimension: Length 20.5 cm
- Item Weight: 0.05 kg
- · Material: Stainless Steel

20 Stainless steel, Dinner Spoon	pcs	50	120.00	6,000.00
Specification:				

21 cm Dinner Spoon L 21 cm thickness 4 mm Made of Durable Stainless Steel Material

21 cm Dinner Spoon L 21 cm thickness 4 mm Made of Durable Stainless Steel Material

- · Mirror Finished
- · Durable Stainless Steel Material
- Dishwasher Safe
- SS Dinner Spoon
- · 4.0mm thickness
- · Silver
- Item Dimension: Length 21cm
- Item Weight: 73gm
- · Material: Stainless Steel

21 Stock Pot pcs 4 2,300.00
-----------------------------

### Specification:

Stainless steel stock pot high quality non stick cookware set Stock Pot / Casserole

Material: Stainless Steel

Multi-purpose, Can be Pots or Steamer

12pcs = 4pcs Pots + 4pcs Glass cover

Size: 24cm, 26cm, 28cm, 30cm

High Quality

22	Water Goblet Crystal Glasses Red Wine Glass Brandy Glass Whiskey Glass Goblet 340ml, 450ml	pcs	50	72.00	3,600.00
----	--	-----	----	-------	----------

# Specification:

Water Goblet Crystal Glasses Red Wine Glass Brandy Glass Whiskey Glass Goblet 340ml, 450ml

Material: Lead-free glass

Capacity: 650ml/21.98oz

Color: Clear

Height: 157mm/6.2inch

Packing: 1PCS/6PCS SET

[Product features:] 1. The product structure is firm, durable and not easily damaged. 2. The glass raw materials are selected carefully, pure and lead-free, fine processing, high white glass and transparent High transparency, crystal clear, close to crystal glass. 3. The glass has heavy weight, strong texture and strong resistance to breakage. 4. The hand feels round and comfortable; the glass gloss and transparency will last for a long time. [Cleaning method:] 1. Put the water cup into the water with detergent (toothpaste can also be applied), and use a steel wire ball or a thicker washing tool to clean the water cup until there is no oil stains. 2. Pinch a part under the cup with your hand, rinse back and forth with clean water, and avoid touching the cup with others.

3. Put the washed water cup upside down on the mouth cloth, do not wipe or touch it until it is completely dry.

23	Wine Glass with Long Stem	pcs	30	1,000.00	30,000.00

### Specification:

Material: Lead-free glass Color: Clear Product Detail S88BD75 - Capacity: 750ml/25.36oz - Weight: 222g - Top diameter: 72.8mm/2.9inch - Bottom diameter: 84.5mm/3.3inch - Height: 274.1mm/10.8inch [Product features:] 1. The product structure is firm, durable and not easily damaged. 2. The glass raw materials are selected carefully, pure and lead-free, fine processing, high white glass and transparent High transparency, crystal clear, close to crystal glass. 3. The glass has heavy weight, strong texture and strong resistance to breakage. 4. The hand feels round and comfortable; the glass gloss and transparency will last for a long time.

24 Wok Non Stick 32"	pcs	4	1,300.00	5,200.00

### Specification:

## NON-STICK INDUCTION WOK WITH GLASS LID

#### Features and Benefits:

- Heavy Gauge Aluminum
- · 3 Layer Daikin Non-Stick Coating
- · Soft Touch and Heat Resistant Bakelite Handle and Knob
- Tempered Glass Lid
- · Stainless steel reinforced bottom
- Works on all stovetops such as induction, gas, electric, ceramic, halogen, etc.
- · Ideal for healthy cooking
- · Easy to clean

Available Colors: Red

Size and Dimension:32cm (L45xW32xH16cm)

- 4					
	25 Wok with LID 28"	pcs	4	1,300.00	5,200.00

Specification:

# NON-STICK INDUCTION WOK WITH GLASS LID

#### Features and Benefits:

- Heavy Gauge Aluminum
- · 3 Layer Daikin Non-Stick Coating
- Soft Touch and Heat Resistant Bakelite Handle and Knob
- Tempered Glass Lid
- · Stainless steel reinforced bottom
- · Works on all stovetops such as induction, gas, electric, ceramic, halogen, etc.
- · Ideal for healthy cooking
- · Easy to clean

Available Colors: Red

Size and Dimension: 32cm (L45xW32xH16cm)

26 Wooden Spoon pcs 4 200.00 800.00

### Specification:

Japanese Wooden Spoon

- . 100% brand new and high quality wooden spoons with kinking
- · Suitable for porridge, soup, coffee, cereal and desserts, etc.
- · Natural wood, simple and plain.
- · Perfect tableware utensil & fancy household gifts for yourself and your friends

### Welcome to Dolity!

- Specification:
- Product Name: High Quality Wooden Spoon
- Material: Natural wood + Kinking
- Size:18.7x4cm/7.36x1.57inch
- Color: Black Kinking, Brown Kinking

	TOTAL			126,368.00
Purpose: VSU	IHS Home Science Laboratory			
Checked by:	ELIZABETH S. QUEVED	0	Funds Available:	IA M. FLORES JASIMISE
	TWG - Laboratory Equipm			BUDGET OFFICE
Signature: Printed Name:	Requested by:  GUADA FE D. AMIHAN	Noted by:	OM GRACE C. SUGANO	Approved by:  EDGARDO E. TULIN
Designation:	END USER		HEAD, PROJECT LEADER	PRESIDENT, VSU